
2

S2

5

S2

PRE-ENGINEERED TRUSSES
@24" ON CENTER - SEE TRUSS 
MANUFACTURES ENGINEERED 
DRAWING SET FOR MORE 
INFORMATION

3

S2

25' - 4" 11' - 5 1/2" 15' - 10 1/2" 21' - 4" 15' - 11 1/4"

25' - 4" 11' - 4" 37' - 4" 15' - 11 1/4"

1

S2

4

S2

1
' -

 1
 1

3
/1

6
"

2
' 
- 

0
 3

/8
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

0
' 
- 

3
 5

/8
"

2
' -

 0
 1

1
/3

2
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' -

 1
 1

3
/1

6
"

0
' -

 1
 1

3
/1

6
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
 7

/3
2

"
1

' 
- 

8
 3

/1
6

"

1
' -

 1
 1

3
/1

6
"

0' - 7" 1' - 5" 1' - 10" 2' - 0" 2' - 0"

1' - 11 3/16"

2' - 0" 2' - 0" 2' - 0"

0' - 9 1/16"

1' - 6 3/4"

3
9

' -
 8

"

1' - 4" 1' - 4"

17' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 0' - 7" 1' - 5" 1' - 10" 2' - 0" 2' - 0"

1' - 11 3/16"

2' - 0" 2' - 0" 2' - 0"

0' - 9 1/16"

1' - 6 3/4"

S
1

S
3

S
1

S
3

V
0

2

V
0

4

V
0

5

V
0

6

1
' 
- 

6
 3

/4
"

0
' 
- 

9
 1

/1
6

"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
 1

/3
2

"

2
' 
- 

0
"

1
' 
- 

6
 3

/4
"

0
' 
- 

9
 1

/1
6

"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

C
02

C
02

C
0

6

C06

C
0

6

C06

GABLE RAFTERS

V
0

1

TRUSS 
BLOCKING

S
2

S
2S
4

S
4S
5

S
5

V
0

3

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C01

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

1

C
0

4

C
0

3

C04

C03

C
0

4

C
0

3

C04

C03

C
0

5
C

0
5

6

S2

TG2

TG2

TG2

TG2

TG2

TG2

TG2

TG2

TG2

TG2

TG2

TG1

TG1

TG1

TG1

TG1

TG1

TG1

T3

T5

T5

T5

T5

T2

T2

T2

T2

T2

TR3

TR4

TR4

TR4

TR4

TR4

TR4

TR4

TR2

TR2

TR2

TR2

TR2

TR2

TR2

TR1

T4

T1

TG3

TG3

HOT ROLLED GIRDER
HSS 14x4x5/16

T
S

1

T
S

1

T
S

1

T
S

1

T
S

1

TR1

TR3

TR3

1
' -

 1
 7

/8
"

1
' -

 8
 1

/4
" 2

' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"

2
' 
- 

0
"
1
' -

 8
 1

/4
"

1
' -

 1
 7

/8
"

S3

5
Sim

S3

6
Sim

CHECKED BY

DRAWN BY

PROJECT NUMBER

TAYNR, Inc.
600 Sunbeam Ave Suite 1
Sacramento, CA 95811

info@TAYNR.com
(916) 891-3003
TAYNR.com

THIS DRAWING IS NOT FINAL OR TO BE USED FOR 
CONSTRUCTION UNTIL IT IS SIGNED BY THE ENGINEER

SHEET NUMBER:

SHEET NAME:

CALIFORNIA ENGINEER APPROVAL

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC.

DRP Enterprises, LLC
PO Box 4428
Palm Springs, CA 92263

(206) 734-7765
dpatneaude@drpenterprises.org

ROOF
FRAMING
PLAN

_

C
U

S
T

O
M

 H
O

M
E

DZ

MK

S1

3
2

7
 W

 P
a

rk
 S

t,
 L

a
k
e

 H
e

le
n

,
F

L
 3

2
7

4
4

, 
U

S
A

1/4" = 1'-0"
1

ROOF FRAMING PLAN

2'-0"



Finished Floor
0' - 0"

Bear ht.
10' - 0"

1' - 5 1/2" 12' - 10 1/2" 33' - 8" 6' - 7 1/4"

1' - 4"

1' - 6 3/4"

Finished Floor
0' - 0"

Bear ht.
10' - 0"

PRE-ENGINEERED TRUSSES
@24" ON CENTER - SEE 
TRUSS MANUFACTURES 
ENGINEERED DRAWING SET 
FOR MORE INFORMATION

1' - 0 1/16"

4' - 3 15/16" 23' - 0" 1' - 4"

Bear ht.
10' - 0"

15' - 10 1/2" 21' - 4" 1' - 4"

S3

3
Sim

Bear ht.
10' - 0"

1' - 6 3/4" 6' - 7 1/4" 36' - 4" 6' - 7 1/4" 1' - 6 3/4"

2' - 2 5/32" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0" 2' - 0"2' - 1 27/32"

Finished Floor
0' - 0"

Bear ht.
10' - 0"

25' - 4" 11' - 4" 37' - 4"

1' - 4" 1' - 4" 1' - 4" 1' - 4"

S3

1
Sim

S3

2
Sim

S3

4
Sim

Bear ht.
10' - 0"

10' - 7 1/4" 1' - 6 3/4"
CHECKED BY

DRAWN BY

PROJECT NUMBER

TAYNR, Inc.
600 Sunbeam Ave Suite 1
Sacramento, CA 95811

info@TAYNR.com
(916) 891-3003
TAYNR.com

THIS DRAWING IS NOT FINAL OR TO BE USED FOR 
CONSTRUCTION UNTIL IT IS SIGNED BY THE ENGINEER

SHEET NUMBER:

SHEET NAME:

CALIFORNIA ENGINEER APPROVAL

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC.

DRP Enterprises, LLC
PO Box 4428
Palm Springs, CA 92263

(206) 734-7765
dpatneaude@drpenterprises.org

Loading Code    IBC 2018
Top Chord Live 20
Top Chord Dead 05
Bottom Chord Live 00
Botttom Chord Dead 05
Snow Load 00
Wind Load Provisions          ASCE7-16
Wind Speed      134
Exposure Category C
Risk Category II
Roof Pitch     6/12
BC Restraints     2'-0''

Truss Design Summary

Dimension Sample

OUTSIDE FACE OF WALL
TO CENTER OF TRUSS

CENTER TO CENTER

TRUSS

EXTERIOR WALL

TRUSS
STRUCTURAL
SECTIONS

_

C
U

S
T

O
M

 H
O

M
E

DZ

MK

S2

3
2

7
 W

 P
a

rk
 S

t,
 L

a
k
e

 H
e

le
n

,
F

L
 3

2
7

4
4

, 
U

S
A

1/4" = 1'-0"
1

TRUSS STRUCTURAL SECTION 1/4" = 1'-0"
2

TRUSS STRUCTURAL SECTION

1/4" = 1'-0"
3

TRUSS STRUCTURAL SECTION

1/4" = 1'-0"
5

TRUSS STRUCTURAL SECTION

1/4" = 1'-0"
4

TRUSS STRUCTURAL SECTION

1/4" = 1'-0"
6

TRUSS STRUCTURAL SECTION



24"X12"X8" AAC BLOCK 
TYPICAL FOR EXTERIOR

PRE-ENGINEERED TRUSSES
SEE TRUSS MANUFACTURES 
ENGINEERED DRAWING SET

CONTINUOUS 8" GROUTED
BOND BEAM WITH (2) #4 REBAR 
TYPICAL FOR TOP COURSE

LTA2 STRAPPING 
8" ON CENTER TYPICAL

(7) #10 SCREWS

(2) #10 SCREWS
EACH SIDE

1' - 4"

(2) #10 SCREWS
EACH SIDE

TC26 - SIMPSON SCISSOR TRUSS 
CONNECTOR WITH (6) 3/16 x 2 1/4  
TITEN TURBO

24"X12"X8" AAC BLOCK 
TYPICAL FOR EXTERIOR

PRE-ENGINEERED TRUSSES
SEE TRUSS MANUFACTURES 
ENGINEERED DRAWING SET

CONTINUOUS 8" GROUTED
BOND BEAM WITH (2) #4 REBAR 

TYPICAL FOR TOP COURSE

(1) #10 SCREWS
EACH SIDE

1' - 4"

(2) #10 SCREWS
EACH SIDE

PLATE 4x9 12GA
EACH SIDE

PRE-ENGINEERED TRUSSES
SEE TRUSS MANUFACTURES 
ENGINEERED DRAWING SET

(1) #10 SCREWS
EACH SIDE

(2) #10 SCREWS
EACH SIDE

(4) #10 SCREWS
PER ANGLE

WOOD BEAM

PLATE 9x7 12GA
EACH SIDE

(2) L4X4 54 MIL

(8) #10 SCREWS
EACH SIDE

PLATE 4x8 12GA
EACH SIDE

PLATE 4x11 12GA
EACH SIDE

PRE-ENGINEERED TRUSSES
SEE TRUSS MANUFACTURES 
ENGINEERED DRAWING SET

(2) #10 SCREWS
EACH SIDE

(4) #10 SCREWS
EACH SIDE

(4) #10 SCREWS
EACH SIDE

ROOF BEAM
PER PLAN

24"X12"X8" AAC BLOCK 
(TYPICAL FOR EXTERIOR)

CONTINUOUS 8" GROUTED
BOND BEAM WITH (2) #4 REBAR 
TYPICAL FOR TOP COURSE

PL 10x8x3/8
WITH (2) SIMPSON 

TITEN HD 3/8x4
1/4

PL 1/8

1/8

1 3/4"

3
 3

/4
"

1
0
 1

/4
"

1' - 8 1/2"

24"X12"X8" AAC BLOCK 
(TYPICAL FOR EXTERIOR)

CONTINUOUS 8" GROUTED
BOND BEAM WITH (2) #4 REBAR 
TYPICAL FOR TOP COURSE

ROOF BEAM
PER PLAN

1 3/4"

PL 10x8x3/8
WITH (2) SIMPSON 

TITEN HD 3/8x4

PL 1/8

1/8

1/4

PL 1/8

ROOF BEAM
PER PLAN

PRE-ENGINEERED TRUSSES
SEE TRUSS MANUFACTURES 
ENGINEERED DRAWING SET

1/4

CONTINUOUS PLATE 
ALONG ROOF BEAM
4" WIDE X 1/4" THICK

(6) #10 SCREWS
THROUGH PILOT HOLES

PLATE 3 1/2x7 12GA
EACH SIDE

(1) #10 SCREWS
EACH SIDE

(2) #10 SCREWS
EACH SIDE

STIFFENER PLATE 5x2.5x1/8
EACH SIDE

CHECKED BY

DRAWN BY

PROJECT NUMBER

TAYNR, Inc.
600 Sunbeam Ave Suite 1
Sacramento, CA 95811

info@TAYNR.com
(916) 891-3003
TAYNR.com

THIS DRAWING IS NOT FINAL OR TO BE USED FOR 
CONSTRUCTION UNTIL IT IS SIGNED BY THE ENGINEER

SHEET NUMBER:

SHEET NAME:

CALIFORNIA ENGINEER APPROVAL

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC.

DRP Enterprises, LLC
PO Box 4428
Palm Springs, CA 92263

(206) 734-7765
dpatneaude@drpenterprises.org

ROOF
STRUCTURAL
CONNECTIONS

_

C
U

S
T

O
M

 H
O

M
E

DZ

MK

S3

3
2

7
 W

 P
a

rk
 S

t,
 L

a
k
e

 H
e

le
n

,
F

L
 3

2
7

4
4

, 
U

S
A

1 1/2" = 1'-0"
1

TRUSS TO AAC WALL DETAIL
1 1/2" = 1'-0"

2
TRUSS TO AAC WALL SLIDING DETAIL

1 1/2" = 1'-0"
3

TRUSS TO WOOD BEAM DETAIL

1 1/2" = 1'-0"
4

TRUSS TO TRUSS DETAIL
1 1/2" = 1'-0"

5
ROOF BEAM TO AAC WALL DETAIL

1 1/2" = 1'-0"
6

TRUSS TO ROOF BEAM DETAIL


	Sheets
	S1 - ROOF FRAMING PLAN
	S2 - TRUSS STRUCTURAL SECTIONS
	S3 - ROOF STRUCTURAL CONNECTIONS


